KANGOUROU MATHEMATICS COMPETITION 2024-2025 LEVEL 7-8
AIATONIZMOZ KANGOUROU MAGHMATIKA 2024-2025 EMNINEAO 7-8

1. Lisa has four wooden digits. She can use them to form the number 2025. Which of the
following numbers is the largest she can form with these digits?
H Aloa €xel téooepa EUAWVa Pndia. Mmopel va ta XpnoLUOTIOLNOEL YLa Vo OXNUOTIOEL
Tov aplBuo 2025. Molog and Toug TaPAKATW aplBpoUg eival o peyaAUTEPOC TIOU
umopel va oxnuartiost pe avta ta Pndio;
(A) 2502 (B) 5202 (C) 5220 (D) 5502 (E) 5520

2. lIrene rotates the hexagonal sheet of paper, as shown. Each rotation turns the hexagon
through the same angle in the same direction. The figure shows the results of one A
rotation. Which of these numbers of rotations would leave the sheet looking the same

as it did at the start?

H Ewprjvn neplotpédel To e€aywvikd GUANO xaptTioU, onwc daivetal. Kabe meplotpodn afg;fﬁt onr: Srléltngon
yupileLto e€aywvo kata tnv (bla ywvia kot mpog tnv idla katevBuveon. H etkova deiyvel ArnoteAeoua
To anoteAéopata plag neplotpodns. Molog and autouc Toug aplBuolg meplotpodwy TEPLOTPOPNG
Ba apnve to dpUAO va daivetal to (5o OMwWG oTnV apxn;

(A) 7 (B) 8 (€)9 (D) 10 (E) 12

3. Sara rolls three dice and gets a total of 8. All three dice show a different number of dots. Which number of
dots could Sara not have rolled on any of her dice?
H Zdpa pixvel tpia {apla kot maipvel cuvollkd aplBud koukkidwv 8. Kat ta tpia {apla Seiyvouv StodpopeTikod
opLlBud koukidwv. Molov aplBuod koukidwy dev Ba pumopouoe va £XeL pifeL n Tapa o Kavéva amod Ta {apla tng;

(A) @ (B) @ (C) @ (D) . (E)

4. Therectangular hexagon shown is divided into many triangles of equal area. Which fraction
of the hexagon is shaded?
To eéaywvo mapaAAnAoypappo mou ¢aivetal eivol YWPLOUEVO o€ TTOAA Tplywva ioou
guBadou. NMolo KAAoHa Tou e€aywVou Eival OKLOOUEVO;

1 1 1 1 1
(A) 5 (B)3 (€ (D) < (E) 5

5. How many lots of 12 minutes are there in 12 hours?
Méoeg opddeg Twv 12 AsmTwy UTIAPXOULV Ot 12 WPEG;
(A) 60 (B) 24 (C)12 (D) 10 (E) 6

6. Dimitris is 5 years old. His brother Marios is 6 years older. What will the sum of their ages be in 7 years’ time?
O Anuntpng eival 5 etwv. O adepddc Tou, o Mdplog, eival 6 xpovia peyaAltepog. MNolo Ba eivat To abpolopa
TWV NALKLWYV TOUG o€ 7 XpOVvLoy;

(A) 26 (B) 27 (C) 28 (D) 29 () 30

7. Orestis wants to write the four digits 2, 0, 2 and 5 in the four boxes of the
calculation shown. What is the smallest result that Orestis could get?
O Opéotng BéAeL va ypayel ta téooepa Pnodia 2, 0, 2 KaL 5 ota TECCEPA KOUTLA |:| |:| T |:| |:|
TOoU uToAoylopoU Tou daivetal. Molo elval To PLKPOTEPO ATIOTEAECHA ToU Ba
propoloe va apetl o Opéotng;
(A) -7 (B) -6 (C)-5 (D) -4 (E)-3

8. There are ten more truth-tellers than liars in a room. Everyone in the room was asked, “Are you a truth-
teller?” and everyone gave an answer/ a total of 20 people answered, “yes”. How many liars are in the room?
Ynapxouv 10 meploodtepol avBpwmol mou Aéve TNV aAnBela ar’ ot Pelteg oe €va Swuatio. OAot oto
Swpato pwtAOnkav: «Aeg aAnBeLa;» kot OAoL E€Swaav pLa amavtnon. ZUVOAKA 20 ATOUA QIAVTNOoQV «VaLY.
Méoot Pelteg umdpyxouv oTo SWUATLO;

(A) 0 (B)5 (C) 15 (D) 20 (E)25
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9. Five circles, each with an area of 8 cm?, overlap to form the figure shown. The area
of each section where two circles overlap is 1 cm?2. What is the total area covered
by the figure? ‘ ' .
Mévte kUKAoL, KkoaBévac pe eppadov 8 cm?, oAAnAemkaAUmTovial yla va ‘ ‘
oxnuatioouv to oxnua ou daivetat. To epPadov kaBe TuRuatog 6mouv SUo KUKAOL

aMnAsrukaAUntovtal givat 1 cm? Mowo €ivat to ouvoAlkd epBaddv Tmou
KOAUTITETAL AT TO OXNUQ;

(A) 32 cm? (B) 36 cm? (C) 38 cm? (D) 39 cm? (E) 42 cm?

10. The real combination for the bicycle lock shown in the picture is 0000. However,

when someone looks at it from the side, they see 8888. When Paul looks at the
combination of his friend’s lock from the side, he sees 2815. What is the real
combination of his friend’s lock?
O MPAyHaTIKOG cuVSUAOUOG Yl TNV KAELSopLd Tou modnAdtou mou daivetal
otnv elkova eivat 0000. Qotdoo, OTaV KATIOLOG TNV Kottalel armd to mAAL, PAEMEL
8888. Otav o NauAog koltdlel Tov cuvduacuo Tt KAELSaplag tou ¢ilou Tou
ornd 1o TAAL PAémel 2815. Molog eival 0 TPOYUATIKOC OUVSUACUOC TNG
kAeldapLag tou ¢ilou tou;

(A) 4037 (B) 4693 (C) 0639 (D) 0693 (E) 9603

11. Markos the mouse wants to get to a piece of cheese. He can only move i @,
horizontally or vertically between any two cells in the directions shown by the
arrows. How many different routes can Markos take to reach a piece of cheese? %
O Mapkog to TovtikL B€AEL va pTAoEL 0 Eval KOUUATL Tupl. Mmopel va KivnBel
pHovo opllovria 1 kabeta petafl dUo KeAlwv oTIE KateuBUVaOEeLG TTou Seixvouv ta 6
BEAN. Nooeg dladopeTikeég Sladpousc pmopet va akolouBbrjost o Mdapkog yla va
$TAOEL 08 KOUUATL TUPLOU); %

(A) 3 (B) 5 ()8 (D) 10 (E) 11

12. There are five hurdles in a 60m hurdles race. The first hurdle is after 12m. The gap between any two consecutive
hurdles is 8m. How far is the last hurdle from the finish?
Yridpxouv mévte eunodia o Evav aywvao 60 LETPpWV Pe eumodio. To mpwto epnoddio Bploketal ota 12 pétpa. To
Saotnuo petal Svo Stadoyikwy epmodiwy gival 8 pétpa. Noco amnéxel To tedevtaio epumddlo amod tn ypappn
TEPUATLOUOU;

(A) 16m/ 161 (B) 14m/ 14p (C)12m/ 12pn (D) 10m/ 10u (E) 8m/ 8u

13. Andreas wants to write a number in each circle in the diagram. He wants each number to
be equal to the sum of the numbers in two adjacent circles. He has already written two
numbers, as shown. What number should he write in the grey circle?

O Avbpéag BéAeL va ypadel évav aplBuo oe kaBe KUKAO oto Sldypappo. OEAel kKabe
aplBudc va eival (oog pe To abpolopa Twv aplBuwyv oe V0 yeltovikoug KUKAoUG. ExeL nén
ypayet SUo aplBuolg, omwg daivetat. Molov aplBud npémnet va ypadel otov ykpilo KUKAO;

(A) 2 (B)-1 (C)-2 (D)-3 (E)-5
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14,

15.

16.

17.

Louise places three rectangular pictures in the way shown.
What is the value of x ?

H Aouila tomoBetel tpelg opBoywVLEG €IKOVEG UE TOV TPOTO TIOU
daivetat. Mola elvat n T Tou X;

(A) 64 (B) 70 (C) 72
(D) 76 (E) 80

Nick is on a treadmill in the gym. He keeps looking at two stopwatches. The first shows the time elapsed since he
started his session and the second the time remaining until the end of his session.

At some point the two stopwatches show the same reading. What do they show at that point?

O NikoAag eival og éva S1a8pOoUOo YUUVOOTIKNG. ZuVeXWE Koltalel SUo xpovouetpa. To mpwTto Seiyvel Tov xpdvo
TIOU €XEL TEPACEL OO TNV apXH TN £€A0KNONG TOU KAl TOo SEUTEPO TOV XPOVO TIOU QTIOUEVEL EXPL TO TEAOC TNG
g€aoknong tou. Kamotla otiyun, Ta Suo xpovopetpa deixvouv tnv 6la £voelEn. T Seixvouv ekeivn TN oTLyun;

14:58  21:32

(A) 17:50 (B) 18:00 (C) 18:12 (D) 18:15 (E) 18:20

Maria wants to fill each D with a different prime number less than 20 so that the value of A is an integer. What
is the maximum value of A?

H Mapia BéAsL va yepiosl kaOe D He évav SLapopeTIKO TIPWTO OPLOUO UIKPOTEPO Ao To 20 £T0L WOTE N TIUNA
Tou A va eival aképatog aplbuog. Mota eival n HEyLoTn TLUA Tou A;

HoH

A=
(A) 20 (B) 14 (C) 10 (D) 8 (E)6
Marios wants to fill in the cells on the diagram shown so that each cell contains )
either a cross or a circle. He also wants to ensure there is no line of four consecutive
identical symbols in any column, row or diagonal. When has completed the ><
diagram, what will the grey column contain? Y
O MdpLog B€AeL va CUUTTANPWOEL Ta KEALA 0TO Slaypappa tou GalveTal £T0L WOTE w >< b ><’

KaBe kell va mepléxel site évav otaupd elte évav KUkAo. OfAeL emiong va ()
efaodaliosl OTL Sev UTIAPXEL OElpd LE TECOEPA CUVEXOUEVA TIAVOUOLOTUTIAL :
cUUBOAa og Kopia oTAAN, oglpd i Staywvio. Otav oAokAnpwosl To Stdypappa, Tt
Ba meplEXeL n oTAAN o gival xpwpoTlopévn yKpila; | : =

XX

(A) 3 circles and 3 crosses / 3 kUkAoucg Kal 3 oTaupPoUC (B) 2 circles and 4 crosses / 2 kUkAou¢ kat 4 otaupoug
(C) 4 circles and 2 crosses / 4 KOUKAOUG Kol 2 6TAUPOUG (D) 5 circles and a cross / 5 kUkAoug kot 1 oTaupo
(E) a circle and 5 crosses / 1 kUkAo KoL 5 otaupoug
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18. In the rectangle ABCD, the points E and F are marked on side DC, as shown, so that E F
LEBA = ZDFA = 45° and AB + EF = 20 cm. What is the length of BC? D ¢

19.

20.

21.

22.

23.

210 opBoywvio ABCD, ta onueia E kat F gival onuewpéva otn mieupad DC, onwg
daiveral, €toL wote LEBA = £DFA = 45° kaL AB + EF = 20 k. Molo eivat To HAKOG TNG
TAeupag BC;

(A) 4 cm (B)6cm (C)8cm (D) 10 cm (E) 12 cm A B

Sonia has two bowls of numbered balls. Bowl X contains seven balls numbered 1, 2, 6, 7, 10, 11 and 12. Bowl Y
contains five balls numbered 3, 4, 5, 8 and 9. Which ball should Sonia transfer from Bowl! X to Bow! Y to increase
the average number on the balls in each bowl?

H Zovia £xel 600 KOUTIEG PE aplBUNUEVEG UTTAAEG. H KoUTIaL X TIEPLEXEL EMTA UMAAECG aplOunuéveg 1, 2, 6, 7, 10,
11 kat 12. H koUTta Y TiEpLEXEL TLEVTE UTIAAEG aplOunuéveg 3, 4, 5, 8 kat 9. MNola UnAAa MPETEL v LETOPEPEL N
Zovia amnod ™ koUTa X ot KouTa Y yia va au€roeL Tov HECO OPO TwV aPLBUWVY OTIG UMAAEC 0 KOO KoUTQ;

(A) 6 (B) 7 (€)10 (D) 11 (E) 12

Petros has drawn a quarter circle with centre at each corner of a flag 12
with dimensions 12 cm by 9 cm and coloured the region formed, as
shown. What is the length of the segment indicated by the question
mark?

O Métpog xel oxedlaoel £va TETAPTO KUKAOU e KEVTPO o€ KABe kopudn
ywviag pLog onualag pe Slaotdoelg 12 eK. Kal 9 k. Kol EXEL XPWHOTIOEL
TNV neploxn mou oxnuatiletal, onwg ¢aivetal. Molo ivol To HAKOG TOU
TUAMOTOG TIOU UTTOSELKVUETAL aTtd TO GUBOAD «?»;

(A)5cm (B)6cm (C)7cm
(D) 8 cm (E)9 cm

In the six-digit integer PAPAYA, different letters stand for different digits and the same letter always represents
the same digit. Also,Y=P+P=A+A+A. Whatisthevalueof PxAxPxAxYxA?

Itov e€adndlo aképato aplBud PAPAYA, S1odopeTikd ypaupata avilotolyouv oe Stadopetika Ynoia kat o
(610 VPG TTAVTA QVTUTPOCoWIEVEL TO (610 Pndio. Emiong, Y=P+P=A+ A+ A.

Mota eival N TN TOUP X AX P x AX Y X A;

(A) 432 (B) 342 (C) 324 (D) 243 (E) 234

During two sessions of football training, Paul shoots a total of 17 times at a target. He hits with 60% of the shots
he shoots in the first session. He hits with 75% of the shots he shoots in the second session.

How many times did he hit the target in the second session?

Katd tn Sidpkela SUo mpomovroswv modoodaipou, o NMaUAOG KTUTA TN UNTGAC cUVOALKA 17 popEg mpog Tov
ot0)o. Metuyaivel To 60% TWV KTUMNUATWY OTNV TPWTN POMOvNon. MeTuxaivel To 75% TWV KTUTINUATWY TTOU
KTUTtA ot SeUTepPN Tpomovnorn. MNooeg hopéG METUXE TO OTOXO OTn SEUTEPN TIPOTIOVNON;

(A)6 (B) 7 (C)8 (D)9 (E) 10

Anna always leaves for school at 8:00 a.m. Her school is 1 km away. When she walks, her speed is 4 km/h. When
she cycles, her speed is 15 km/h. She arrives 5 minutes early when she walks. How many minutes early is she
when she cycles?

H Avva dpelyel mavta yla 1o oxoAeio otig 8:00 1.u. To oxoAeio TG ivat 1 XIALOPETpOo pakpLld. Otav mepmnatdel, n
taxUTNTa g eivat 4 yAopetpa/wpa. Otav modnlatel, N taxVTNTa tng ivat 15 xAopetpa/wpa. Otdvel 5 Aemtda
vwpltepa otav nepnatdel. Noca Aemtd vwpitepa dptavel otav modnAatei;

(A) 12 (B) 13 (C) 14 (D) 15 (E) 16
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24,

25.

26.

27.

28.

Ria draws four squares side by side, as shown. What is the area of the shaded 4
quadrilateral?

H Pla oxeblalel téooepa teTpaywva Tomobetnuéva to €va Simla oto GAAo, Omwg
daivetat. Moo gival to euPadOV TOU OKLACUEVOU TETPATIAEUPOU;

(B) 60
(C) 66
(D) 72
(E) 80 ¢

The letters p, g, r, s and t represent five consecutive positive integers, though not necessarily in that order. The
sum of p and q is 69 and the sum of s and t is 72. What is the value of r?

Ta ypdupata p, g, r, s Kol t avtutpoownevouv Tévte Sladoxlkoug BeTIkoUG akEpaloug, av Kol dev elval
anapailtnto va eival og autiv tn ospd. To ABpolopa Tou p Kal Tou g eival 69 kal To ABpolopa Tou s Kal Tou t
elvat 72. Nola eivat n TR tou r;

(A) 29 (B) 31 (C) 34 (D) 37 (E) 39

When the height of a cuboid is reduced by 3 cm, its surface area is reduced by 60 cm?.
The resulting shape is a cube. What is the volume of the original cuboid, in cm3?

‘Otav to UPog evog KUPBOELSOUC OTEPEOD UELWVETAL KOTA 3 €K., N EMLAVELA TOU PELWVETOL
katd 60 ek To amotéleopa eival évag kUBog. Molog elval o OyKoG TOU apxLKou
KuBoeldol¢ otepeoy, o€ eK3;

(A) 75 (B) 125 (C) 150 (D) 200 (E) 225 o

In the quadrilateral ABCD, the points N and K are marked on sides BC and AD respectively B N
so that BN = 2NC and AK = KD. The area of triangle CKD is 2, and the area of triangle ABN
is 6. What is the area of quadrilateral ABCD?

Y10 teTpdnmAsupo ABCD, ta onueio N kat K eival onuewwpéva otig mAeupeg BC kat AD A
avtiotolya, £étol wote BN = 2NC kat AK = KD. To epBadov tou tpywvou CKD eival 2 kat To
euPadov tou Tpywvou ABN eival 6. Molo eival to epPadov tou tetpdmieupou ABCD;

(A) 13 (B) 14 (C) 15 (D) 16 (E) 17

Some birds, including Maria, Elena, Sonia and Suzy, are perching on four parallel wires. There are 10 birds perched
above Maria. There are 25 birds perched above Elena. There are five birds perched below Sonia. There are two
birds perched below Suzy. The number of birds perched above Suzy is a multiple of the number of birds perched
below her. How many birds in total are perched on the four wires?

Kamota mouAwd, meplapfavopévwy Twv Maplag, EAévag, 2oviag kal 2ouing, kaBovtal oe Téooepa MapAAAnAa
ocuppata. Yrapyouv 10 mouAld mavw amo t Mapia. Yitdpyxouv 25 mouAld mavw amnd tn EAeva. Ydpxouv mévie
TIOUALA KATW amo TN Zovia. Yrdpyxouv 800 TOUALA KATW amo T Zouln. O aplBuog Twy MOUALWY TAVW amno T
Youln elval MOAAMAAGCLOG ToU aplBpol Twv MOUALWY KATW amd authv. NMoca moulAld cuvoAlkd kdBovtal ota
Téooepa cUPUATA;

(A) 27 (B) 30 (C) 32 (D) 37 (E) 40
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29. The figure below shows the adapted net of an octahedron. Each face of the octahedron is divided into three

parts. The octahedron is coloured with the three colours black, dark grey and light grey in such a way so that the
parts that come out of the same vertex or out of an opposite vertex are the same colour. Which colour could the
part marked with a dot be coloured?
H elkova mapakdtw SelXVEL TO TPOCAPUOCHEVO OVATITUYUA €VOG oktdsSpou. Kabe £6pa tou oktaedpou eivat
XWpPLoPEVN o€ Tpla LéEpN. To oKTAESPO EXEL XPWHATLOTEL PE Tpla ypwpata: pavpo, okoUPo YKPLlo Kal avolyto
YKpiZo, L€ TETOLO TPOTIO WOTE TA EPN TIOU TPOEPYOVTAL OO TNV 8La Kopudn 1 amd avtiBeteg KopudEG va Exouv
TO (1610 Xpwpa. Moo xpwpa Ba Prnopouaoe va EXEL TO PEPOC TTIOU EVOL CNUELWUEVO LE KOUKKLOQ;

(A) Only black / uévo pauvpo

(B) Only dark grey / pévo okoUpo ykpilo

(C) Only light grey / pévo avouytod ykpilo

(D) Both black and dark grey are possible / 8a prtopoUoe kat to pavpo
Kol To oKoUpo YKpilo

(E) Both black and light grey are possible/ 6a pnmopouvoe kat To pavpo
KOlL TO avoLyTO ykpilo

ﬁ

i

30. Anna keeps golden, red, black, pink and white pearls in five small boxes. Each box contains pearls of only one

colour. The boxes are labelled as shown, and all the labels are true. Anna’s friend Lia wants to know which box
contains the golden pearls. She may open exactly one of the five boxes to look inside. Which box should Lia
open to be certain which of the boxes contains the golden pearls?
H Avva Kpatd Xpuod, KOKKIVA, Laupa, pol Kol AEUKA LOpYapLTApLO OE TIEVTE ULKPA KOUTLA. KABe kouTi mepléxel
MOVO HOPpYOpLTAPLO EVOC XPWHATOC. T KOUTLA £ival EMIONUOCUEVA OTIWG GALVETAL TILO KATW, Kol OAEC oL
ETIKETEC gival aAnBeigc. H dpiAn tng Avvag, n Ala, BAeL va EEpeL TTOLO KOUTL TIEPLEXEL TAL XPUOA LLOPYAPLTAPLAL.
Mmopel va avoifel akplPwg £va amo Ta TEVTE KOUTLA YLa val KOLTAEEL péoa. Molo KouTi mpémet va avoléel n Ala
yla va glval olyoupn ToLo oo TOL KOUTLA TIEPLEXEL TA XPUCA LOPYAPLTAPLO;

(D), ;
’ pavpan OxL pavpa
KOKKLVQL pavpa Xpuoa

Xpuoa n




